NEC /

PNP SILICON POWER TRANSISTOR

2SA1156

DESCRIPTION The 2SA1156 is suitable for Low Power Switching regulator,

FEATURES

DC-DC converter and High Voltage Switch.

® High Breakdown Voltage.

® | ow Collector Saturation Voltage.

® High Speed Switching.

® Complementary to the NEC 2SC2752 NPN Transistor.

ABSOLUTE MAXIMUM RATINGS

Maximum Temperatures

Storage Temperature . ... ... e —55to +150 °C
Junction Temperature . ......... +150 °C Maximum
Maximum Power Dissipations
Total Power Dissipation (T3 =25°C) ....... 10 W
Total Power Dissipation (Tc=25°C) ....... 10 W
Maximum Voltages and Currents (T, = 25 °C)
VcBeo Collector to Base Voltage . . .. ... —400 V
Veeo Collector to Emitter Voltage . . . .. —400 V
Vego Emitter to Base Voltage .. ...... -7.0 V
lcioe) CollectorCurrent ... ......... -05 A
Icpuse)”  Collector Current .. .......... —-10 A
Is(pC) BaseCurrent. . . ....... e e —-0.25 A

* PW=10 ms, Duty Cycle <50 %

ELECTRICAL CHARACTERISTICS (T, = 25 °C)
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1. Emitter

2. Collector connected
to mounting plane

3. Base

SYMBOL CHARACTERISTIC MIN. TYP. MAX. UNIT TEST CONDITIONS

hgg ** DC Current Gain : 30 200 - Vcg=-5.0V, Ic=—-100mA

ton Turn On Time 1.0 us lc=—100mA, R| =1.5k2
tstg Storage Time _ ' 4.0 us g1 =—10mA, Igo =20 mA,V g = — 150V
. Fall Time 1.0 s PW = 50 us, Duty Cycle<2 %
VCEO(SUS) Collector to Emitter Sustaining Voltage —400 \% lc=-100mA, Ig=—10mA, L =20 mH
VCEX(SUS) Collector to Emitter Sustaining Voltage —400 v {FB—E (—ozFof?)Tg'ol ?/1' -L: '1%2'1;““ %?amﬁed.
IcBO Collector Cutoff Current -100 HA Veg=—400V, Ig=0

ICEX1 Collector Cutoff Current —100 LA  “Vog=-400V,VBg(OFF) =15V
ICEX2 Collector Cutotf Current -10  mA ¥:§ :2;330 V,Vgeg(oFF) =15V,
IEBO Emitter Cutoff Current -10 BA VEg=-50V,Iic=0

VCE(sat)**  Collector Saturation Voltage -1.0 \" Ic=—100mA, Ig=—10mA
VBE(sat)*™*  Base Saturation Voltage -1.2 \% lc=—100mA, Ig=—10mA

** Pulsed / PW <350 us, Duty Cycle<2 %

Classification of hgg

Rank

N M L K

Range

30 to 60 40 to 80 60 to 120 100 to 200

Test Conditions: Vcg = —5.0V, Ig= —100 mA
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TYPICAL CHARACTERISTICS (T, =25 °C)

TOTAL POWER DISSIPATION vs.
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SAFE OPERATING AREA
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BASE AND COLLECTORSATURATION

> VOLTAGE vs. COLLECTOR CURRENT
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COLLECTOR CURRENT vs. COLLECTOR
TO EMITTER VOLTAGE
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